
Today #6
Section 6.1 -6.2

laws
· Conservation

· Shock speeds

· Riemann Problem.



⑮
Conservation law is of the
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Consider a space-time carve

x(t) thatsatisfies

[xi(1
=u(X(),t)

X(0) =a(X(0),0)
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For ut +(n-)x =0

X(t] are straightlines

given by = u <- initial
condition
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↑SolutionV1.0:

u isaweak solutionto

ut +(f(u))x =0

if)/u(y,t)dX) +f(n(b,t)) - -f(u(a,t 1)=
fa,b, talmost,



V2.0 consider PG C! (HU]
-

↑contentialnew
zero

outside some

bounded setInR=

Uz +(f(u))x =0

I uz b +(f(u))x 0
=

0

1000+(f(ul)x &dete =



1000M-0+(f(ul)x odxdt
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